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26. Find out the synonym for the italicised wofd
given in the following sentence.
He was filled with remorse for the action.
(a) revulsion (b) regret
(c) despair (d) repentance
27.\ Which of the following is the correct passive
form of the following ?
8 U]
“Who has cut the tree ?” (8]
™
(a) By whom has the tree been cut ? @ 0
(b) By whom was the tree cut ? ' m
M

{¢) By whom was the tree cut by ?

(d) Who has the tree been cut ?

28’.7 Change into direct form :

I said to him, “How do you know this

(a) I asked him that how he knew that.
(b) I told him how I knew that.

(¢) Iasked him how he knew that. @
td) I asked him how I knew that.

=
5

Choose the correct option to find out
menning of the idiom given below :

“T'y end in emoke’.
ta) 'T'o have no result; to come to nothing @

)

(hy To find out the smoke

(¢) Tofind out the result in the end

o)
L0

(d) Tocome toan end

Q\ "‘; e
@ What is the meaning of the idiom, ‘Blow orfq—’g
own horn' ? (™
(v

To be the devil's advocate

(n)

Q Adda247 Telegram Channel
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Fill in the blank with the correct option.
one of the boys was in the playground,
(b) Either

(a) Neither v~
(d) Ally-

(¢) Every
Find the correct sentence.

{a) Heisrich enough to starve.

(b) He is too rich not to starve 7

(c) He is too rich and he starve.

(d) He is too rich to starve.

33) Choose the copfect antonym of)the following

32.

word.

Gloomy

Cheerful : : i
Boring <
Straight

None of the above

(a)
(b)
(@
G (d)

< 9 Select the word which is opposite In meaning:.
?” A

of the following : a
Indiscreet - @
(a) Honest. (b) . Prudent
A (¢) Stupid (d) Reliable

85.) The art of beautiful handwriting is known as:
(a) Designing (b) Stenography |
(c) Orthography (d) Calligraphy *
@ Choose the correct alternative which replaces
/ the given statement/sentence :
“Anything written in a letter after it is
signed”., ;
(a) Maﬁuscript
(¢) Postdiction

(b) Corn'genduin
(d) Postseript *

..........................

37. ) Which among the following is a correctly spelt

word ?
O

(a) Obliterate (b) Obliterait
(¢) Obleturate (d) Obleterate

Fill in the blanks with the correct options.
he failed.”

0

....................

1]
3,

s he worked,
“a) Hardly; when
(b) Though; yet
(c) Other; than
(d) No sooner; than
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fead the following passage carefully and answer |4 What should be the outcome of leadership

ql,gstions number 39 to 43 based on the passage. actions ?

Leadel‘ShiP studies is an emerging discipline, and kﬁ)(a) Movement towards the vision of the

fhe concept of leadership will continue to change.| \O -
Leadership lore is defined as an influence; among f:‘?-!(b) Moyer.nent towards the wvision of the
1eademefs who want real change and E,i?l majority. |
outcomes that reflect their purpose shared by the (wr)((:) Movement and strengthening of the
(V= authority of leaders.

leader.

leaders and their followers. Influence means that |

the Telationship among people is no(@ nt towards common vision of the
: s Y y

however, a1§3 ‘part of this definition is that influence O /eader and the followers. \@

i@id:'ectional. It does not use orders or threats

to make somebody do something. Leadership is @ Find the synonym for the word ‘raditions’ in

something a Teader does to a follower. However, the above passage.

LR . 0 v \
ieaders}&has an effect in both directions. In most (a) Organization (b) Lore @
organizations, superiors influence subordinates, but| {7 : ) 3y 1Ak

«ubordinates influence superiors as well. The people W © Relationship * () Leacersiip

ivolved in the relationship want real and «d )
e es " 1[48X] What is the main theme of this passage ?
important changes — leadership involves creating| ¢

~ —— — ] ¥ . - .
change, not maintaining what normally happens. m\| ¢/ (@ Explanation of leadership construct

adﬁw by & (b) FEuture of a country
leadsrs, but Teflect the purpose that motivatps them i)

toward this more preferable outcome. ‘An important
aSpe-ct of leadership is influencing others B come

togethe d a common vision. Thus, leadership ‘
: g aroun' 2 - 44.) Fill in the blank with the correct option.
involves the influence of people to bring abou

(c) _Pélitics of a country ¢

o

(d) Discussion about followérs

e rdea Josivable ARure. We - ourselves to the circumstances.
%&; (@) Adept () Adopt
i 4 in this| &
The concept of leadership discussed 11 (“k (c) Adapt (d) None of the above -
passage is : W} | '
: ) ’, .
((‘;) Exc.e]?tlonafl ‘ 457 Select the correct order of mending the
) Individualistic * %) puncture in a cycle tube :
(¢) Vertical/Top-down

1. Wait - .
(d) Horizont;al ait for material to dry

2. Remove tyre and tube and dip in water to
| @ “Leadership studies is an emerging discipline’ check.
means - Hed field 3. Pix the tyre and tube.
; . fa i stablished 11eld. .
(a) Leadership studies is an¢ . 4. Mark the spot -and apply puncture

(b) Leadership studies is an elaborate field.

. . mending material.
0 (¢) Leadership studies is an evolving domain 1

of scholarship. - @ 1,38, 2,4 (b) 2,3,1,4
(d) Leadership studies is 2 valid field of © 4,321 @ 2413 »
_____ research. SRR R g
------------------------------- A 5 A
L N
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47,

Which of the following is an example of | 46.
mediated communication ?
(a) A newscaster delivers the weather report
on 9 o'clock news ¢
(b) Students work on a class project together
(¢) A politician addresses a nominating
convention WO
(d) Two friends gossip with one another (0
The role of a leader is defined by the ’cgf\ée 417.
circles of need : cd
1. Task 22
2.  Function
3. New ideas )
4. Team
5. Process
6. Communication
7. Individual
Select the correct answer from the codes %en ;
below : o~
(a) 2,4,1 b) 1,4,7 o)
(¢) 3,1,6 @ 17,5,3 @Y
M
If in a non-leap year, it is Tuesdamn 48.
28" February, then what day will be on |
281 March of that year ? ;
(a) Monday - (b) Tuesday
{c) Sunday (d) None of the above
.. What are the examples of interpersonal 49.
communication ? o)
1, Beminar LEIJ
/ Journalism g\f')
3. Office operation e
4. Letter writing g f‘)
6, Btudy-Teaching ()

6. Conversation

7. Interview s

Yedeet the correet answer from the codes given
biedow ¢

6,75 (b) 4,56,2,1

(d) 2,4,7,6°

{4} 5 3
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frerferRad # & 1|1 TN HR T 3T 3 9
(o) fomeht GETER SEqARA! G109 S A T iy
Heg e faeem -
(b)  BTT oI fohelt ST SISIRE T T HTF Sl e 5
© Wﬁmwwm“ﬁwﬁam}
(@ o e s smmuE e

@ﬁmaﬁﬂﬁwm%?ﬁqaﬁm
trR“%ITfEIHTﬁGITa'T%

1. Fd

2. widfafer

3. qufEm

4. 9

5. Sfskam

6. wIWOT
R T ol
ﬁ%ﬁquﬁaﬁwrﬂwﬂﬁq

(@) 2,4,1 () 1,47

© 31,6 @) 17,5,3
tri?{a‘ra?craé#r% waﬂsqﬂaﬂaﬁnﬂa?ﬂt
ey, a’rzsméﬁwatfaﬁ:rm%?qém? L
(a) HWER (b) HTAEIR

(0 @R (d) sqﬁ?sﬁ@ﬁﬁq-ﬁ

mﬁaﬁzﬁw%mﬁwﬁ?ﬁ%?
1. Gt :

2. eI

3. iR geTe
4. T

5, TSI — LAY
6. drdeTd

7.  HI&eh

o1t faw T %2 et I T s v

" (b) 4,5,2,1
@ 2,4,7,6

(a) 6,7,5,3
() 2,3,5,7

{c) .’/’5'7
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52.

@

54.

55.

56.

.@?& :

ev7 ...

The number of

integers o
_n+220and2n>4is: n satistying | 50,
@@ 1 (b) 2
© 4 @ o

3-digit largest prime number is :
a3

Let A = {a’ b’ c’ e) f’ g}) B = {b7 c7 d; f’ g? hik):z <

'52.
and C = (¢, d, e, g, h, i}. The value off
(A-B)-(A-C)-(C-B))is: B
@ b ® (o N

o
© ¢ (@ f{a} o
Who first calculated the value of Tt ? 53.

(a) Archimedes -
(b) Aryabhatta

(¢) Thales

(d) Pythagoras

By dividing x3 — 6x% + 2x — 4 by z3 x + 1, the |54,/
2 \ag

remainder is :

. N
(@) - =85 (b) 186 £
s 136 N
P e N
(¢ —136 (’d)rf o7 f‘i}_
The value of x in the given figure is : ' 55.
WP
il
i
on
CN
A N
(a) 120° (p) 110 {9
(¢c) 100° (d) 130°
3 : 56.
If the median of the following data is 11, then
find the value of K:
3,21, 10, 76, 0, (K + O)[ 15 20
(@) 7 (b) 6
© 5 A 4 e
""""""""""""""""""""""""""""" AT A
b

Q Adda247 Telegram Channel
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wﬁﬁaﬁmsﬁ—mzzosﬁ on > 47

11@2?»‘(31%,%:

(@) 1 (b) 2

() 4 (@ 0

S i o e o) ST T B -
(a) 998 () 997
(¢) 996 (@ 999

Tt REA=(a b ¢ & b g, '
B={b,c,d,f,g,h}asmC={c,d,e,g,h,i}%|
((A—B)—(A~C)—(C—?B))‘65Tﬂﬂ%:

(a) {b} (b fc

© ¢ @ fal

T %nﬂaﬁrmaa‘uwﬁaﬁﬁeﬁ?

(a) |

(b) EVE

() o

(d) TSR

.x3—6x2+2x—4a3f,:§x+1@fm%}|q{
AT B :

- b 136
27

136

(¢) —136 (d) o7

(a) 120° (b) 110°

(¢) 100° @ 130°

I Frerfafaa atfwet o arees 11 7, A1 K o1 A1
':;Tlffm:

3,21,10,7,6,9, (K + 6), 15, 20

(@) 7 (b) 6

() 5 d 4

)
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& 3is: |57,
At . L)+ (x=y)Pis: 1 |BT.
57. The factor of expression (X +¥) ;"( 23)’
~38y%)
@ 3xG&Z+3yh) (b)) 2x (X2 y : :
¢4 —3
(© 2x(’+8y") (@ 3x&"-3y9 o
58. The work capacity of A is three times morl? \%8
than that of B. Both of them together cagﬁ)
complete a work in 15 days. In how many day. N
will A alone complete that work ? | )
(a) 1875 by 21 (1
(c) 20 (d) 18
59. The cost price of 40 oranges is equal to the |99
selling price of 30 oranges. Find the
percentage profit.
(a) 25% (b) 383:33%
(c) 22% (d) 20%
60,
A man covers half of his journey at a speed of Iy
/i 6 km/hr and the remaining half at a speed ¢f||
3 kmvhr. His average speed is : £V
(@) 3 knvhr (b) 4km/hr Ol
D
9 km/hr (d) 45 km/hr + ¥y
umber when divided by 53 gives 34 as
qiotient. and 21 gg remainder. Then the |61.
umber is ; '
(a) 1800 (b) 1723
() 1924 (d) 1823 .,
62. The number of subsets of A = {0, 1, 2} will be \(]62.
@ 7 ® o)
(c) 8 d 6 ™
P
63. If the difference between compound interedtl
ind simple interest on 4 sum of money i [i63-
2 years at 10% annua] Interest rate is % 1@,")
then find the amount,
(a) 71200 (h) = 1000
(¢) 72400 (d) =940
G4,

Surya sells 46 pens and Buffery
the pelling price of five D
loss pereentage 7

() 11'11%

a loss oqual to
ens. What ig hig total

(h)
(d)

12:69,

9%

................................................
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08 yp.
ST (x + y)3 + ‘(x -y Eﬁrtl}r[:p@,gg _

(@) 3x(x*+3y")  (b) 2x(y
(¢) 2x (x2+3y2) (d) 3x (x2

29,

=3y}
=3y?)
AT FE FAH & B & o 1y %%I%aﬁ
FATeh Tk el 1 15 ﬁ”ﬁ‘mﬁ‘%ﬁ%u\%

o e w1 e Rt i g ey
(a) 1875 (b) 21
() 20 d 18

: 40@3’3%%&1@(0@30#3&%%@%

(SP)F R & | A aRvd I b |
(@) 25% (b)  33-33%
© 22% (@ 20%

T et ot oTmeft I 6 R/ & T g
eﬁrﬁqwﬁwﬁéﬁrﬁaﬁwﬁmm%l
ERETRCI TR T

@ 3R/ (b) 4 fpefi/sicy
() 9 fwi/sar d) 4-5 fdi/ea

U T Y 53 F foraiir Y T e 34
21 STH Il | oY 9% He 2

(a) 1800 (b) 1723

() 1924 @ 1823
A={0’172}%Wﬁm%ﬁ7ﬁ.
(@ 7 : b)) 9

© 8 @ 6

R 10% TR st o @ e et et
WWWWWﬁmf 128, AT

Hw&ma%ql
(@ = 1200 (b) % 1000
(¢) = 2400

(d) T 240

1131?45%@33,15%@'%%@1@%@

I ST R | 8 e o e anfr g 2

(a) 11119 (b) 12'5%
(© 10% d 9%
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Find the missing numpey

i .
arrangement based on some plI:ng;)ele ollowing | 65. el g & TN W fr=fafad s | ﬁ@ﬁ

0] 7 13 HeT Y e A :
. 4
3 Q 9 . 10 7 -
15 | 18 | 21 e 8 ot
: o 15 | 18 | 21
Select the correct answer : LN '
rgeid wer from the code given, mﬁﬁqmgﬁgﬁgﬁwmw?ﬁﬁq
(@ 5 ® 6 ' @5 b) &
© 8 @ 4 :m () 8 : d 4
What will be the next item in the series ~ |66- 7, 11, 19, 35, 67 ____ 1 2@l H SR A
7,11, 19, 85, 67 ? () T BT 2
(a) 121 (b) 131 ¢ S (a) 121 (b) 131
~\(e) 133 @ 99 (c) 133 (d 99
allows several people to use software | 67. w$ AT H TR e | HTCE%MT T’b—f

at the same time to create documents, keep SUET AT @ EIGUED Hﬁ'l‘a'\?f ST ' &
track of projects.

; o ufETsre 3 am%aar@m'éﬁ |
(a) Groupware (b) E-mail * \L) )
() Network (d) Software :1 ’3! ‘ (2) m ﬁ'@'%
;"':68. Another name of interpersonal communicatgo?} (©) ﬁza;% (d)
\. /s: () |68,  STISATRR SR H AW :

(a) Face-to-face public communication (") (a) STHA-HH TSI HR
(b) Diadic communication S (b) SHfsH (fEdfiarer) @=m
(¢) Virtual reality . O : (c). ATV aRfeRar ©
(d) Mass communication (d) STEER

69. Which one of the following pairs is not|69. ﬁﬁ%@ﬁmﬁﬁaﬁq Wmﬂéﬁﬂﬁ’%ﬁqg?% ?
correctly matched ? (a) mﬁ@ﬁ JE[Ih- 3‘1’:[% TSI i
(a) Thorndike — Stimulus-response bond

7’ . () T — qUTieRRETE (ReTee frgr)
(b) Pavlov  — Gestalt theory W (@ R - oy st i
(c) Skinner — Operant condition_ing'( {hi (d) FIE  — IAgMe GE)EAREEAR) ,
theory y \
@ s Tt tieory H 70. 1;11?:1%1@13 & & - T o fvty forgtoar
Which of the following is a characteristic in PR p— e——
good decision ? . L (b) TSRS RET ST '
(a) Ttis based on intuition (¢ e faemRt 3 et o) st (3&?37‘) EF{?IT%
(b) It is made quickly (d) ¥ oTaEd ST
(c) Itignores stakeholders’ interest z
(d) Itis feasible and achievable * 71,  GHEI-EHTE B T STt T W e O &
easible an
") The f problem solving where the SRS : ' J
process of p (a) 3qar g
problem has only one single answer e S
(a) Divergent thinking (b) e
(b)  Convergent thinking (c) T U e
(¢) Trial and error @ e
..... () Insight
--------------------------- AgA
(] b i
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If CONSTABLE is coded as 91, what Wlll be
the code number for STABLE ?

(a) 78 (b) 59_ '
(© 175 (d) 97

7\ It BELONGINGS is coded as TABLESTESF, | 73-

how will you code LINEN ?
(a) BTAEA (b) BATEA )
(c) TABEA ' (@ BTEAE ‘\D

(a) Table: (b) Gate ol
(©) Window @ Door N

75.) As ‘poster’ is relatea to ‘wall’, in the same way | 75.

‘Photograph’ is related to e :
(a) Beauty e
(b) People

(¢) Frame *

(d) Camera %

(a) ishigherin power'hierarchy' M
(b) is senior in age

(¢) belongs to higher socio-economic status
(d)  All of the above .

1. is influenced by inter-personai | 77-
context,

(a) Gesture and posture :'8

D (b) Problem solving (’:\j
{e) Education -y

(d) Speech style . ;;:Sl

108 people like coffee ang 46 people like both
tea and coffee. How Mmany people like neither
tea nor coffee ?

"1 78.
@ Among 200 pergons, 90 people like tea while

(a) 44 (b) 62
() 46 (d) 48

. Adda247 Telegram Channel

.~ ¢ CONSTABLE & 91 %mﬁ%%

@
™
' Which one is different from the other tgi%e ? 74.

~ e A 6
76."y When two people get together, fhe one -
who appears more relaxed in body f?i’ﬂg'uage
)

GET IT ON
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.
3, Al STABLE 31 IS & 1 gy, 10
() 78 ~£ B 59

) 75 (d) 97

af¢ BELONGINGS %! TABLESTESp 3 W
FHifed AT ST &, a7 LINEN T IS T 8y
() BTAEA (b)) BATEA
(c) TABEA (d BTEAE

ﬁw%mﬁ'@ﬁ?-mmaﬁ?ﬁﬁﬁ%?
(@) W (b) WIEH

Y

© Taghr d) @
3% Y Ao & wite 2) 4 4 <
R difa o e E —
(a) ¥<XT (Beauty)

(b) T (People)

© fﬁ’q(Frame) =

(d) 'a”?q'{T.(Camera)

(a) 44 ®) 62 :
(c) 46 @ 48
i 1
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79. x -4 and 2x - 1 are factors of which of the |79, %ﬁﬁﬁmmx—‘laﬁt
following polynomials ? ox— 1359

i (a) 2x3—7x2+5x—4

() 2x%+7x%-5x+4 : )

(¢ 2x3-Tx%2-5x+4 ) 2x°+7x“-bx+4
XY — (X7 — 0X

C 2x3 —Tx2—bx+4

3 2 (o)
(d 2x°+7x“+5x+4
(@ 2x3+7x2+5x+4

15 1s xolated to 2190 in the same way as 1415 | o ) e s 13 siifr 2100 &, 3l T 14 wafer
R oo i X (% ) .2737 b (b) 2738
2739 d 27 a
O 7 2 * N () 2739 (d) 2736
e E&:ﬁi 2o o Caublad, what happers si"“‘) oo g #, AR B g R S, S W
(a) It triples aa‘rwrarqgm%? 7
(b) It quadruples (a) IE fH AT ST R
(¢) Itremains the same - ) qganﬂq-[gﬁm%
- (@) Ttdoubles (0 TEAIEEaTE
The values of x and y in the following diagram (d) ?TE-'EW?ITéTGﬂ?iT%
Frefafaa :ﬂﬁl%rﬁ x Ay HAAE ;

D 2
A st o :;g
O Wy X

(a) x=18,y=7 ¢ (b) x=9,y=16 (b) x=9,y=16
() x=16,y=9 (d x=7,y=18 © x= 16y 9 (@ x=7,y=18

83. The value of which of the following will |33- e ot m%w Wﬁ@ﬁ{ﬂ%ﬁ@’[aﬁga“r
not change if a constant number is added toall| . G, @@ ﬁﬁlﬁfﬁ@?f T ¥ s a9 ¥ afiedd Ti?f

the scores of a series ? S a BT ?
(a) Median “ N (a) HTEH (AEAh)
(b) Mode R O (b) g
(c) Standard deviation O (c) HI [o= i
(d) Mean ’ ' g\% ks ) |
2.\ If the side lengths of a square are doubled,
@ then how much area will be increased ? gg it ii{aﬂjl o _q‘pf? ST, T k2 & S0, @ SR
it 23; et M @ (b) =T
(c) 5times % ﬁat’m & aﬂm

85. 196 is distributed in 300 children. If girls el ;
gain #1 and boys 50 paisa, then what is the 85. ¥ 196! 300 <al § w7 TR | I Tefmiarz1

number of boys ? ﬁ?ﬂ%ﬁﬁ%ﬁﬁ?{,?ﬁa@aﬁaﬁmw%?

(a) 210 (b) 212 (a) 210 (b) 212

(¢) 214 (d) 208 (0 214 (d) 208
"""""""""""""""""""""""""""""""""""" 5 ) e o O RS

(¥ Scanned with OKEN Scanner
& Adda247 Telegram Channel Adda247 Instagram


https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap
https://t.me/adda247live
https://www.instagram.com/adda247_testprime?igsh=bjVoNGlpeGw2a3R3

Given HCF (306, 657) = 9.

Find the LCM (306, 657).
(a)

21331 (b) 22318 U3
(©) 38228 (d) 22338 )
-\ S '
(‘8}7. 0235 =? (9
| 233 237 )
T ®) 590 ('
235 . 285 {9
(e) d — :
1000 G 990
88. Ogive curves for ‘more than’ type and ‘less
than’ type distribution intersect at :
("a‘g) median (b) mode Yy
(¢) origin (d) mean
89. If the points (1, x), (5, 2) and (9, 5) are|
collinear, the value of'x is : ‘
@ =8 ® -1 3
© 1 @ 2 > £
2 i&g’.}
90.

2 cubes, each of volume

to end, then the surface area of the resulﬁﬁg

27 cm3, are joinedf{edd

cuboid is : » {3
(a) 81 cm? (b) 54 cm? :
f\ () 32 cm?2 (d 90em?
’91. ) How many triangles are there in the following
\/ figure ? - : i
D> ¢ .
s | Wi
N 2 65
2SN e
. )
(a) 10 (b) 12 ™)
(c) 11 (d) 8 ('
9,2’.“ The missing number in the series is : 9
_) 4,18, 48,7, 180 o
6 (n) 80 (b) 90
fe) 100 * (d) 60
If %+ =2, then the value of — 2% *2
3. %A — =2, then the value of ———2
i : X 3x% 4 4% + 3
will be ¢
(a) m A

87.

88.

89,

90.

|91,

92,

93.
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86. - HCF (306, 657) = 9 feam & |
LCM (306, 657) Td hifsTq |
(a) 21331 (b) 22318
(c) 33228 (d) 22338
0235 =
233 237
@ 990 ®) 590
235 : 235
ol d =22
© To00 D 5o
THFR W H0 N TR Y e oo % o
T &75h Uh-gaX W Sfoee o & -
(a) - T - (b) WFAR TR
(© wFefgw (@) 3T (Temm)
T (1, %), 6, 23009, 5) @@ @y
@ -2 b -1
@ T 3
27@'@?3%81@2@#@@@3@@@
WW%H}WW%WW%
(a) 8192 (B) 54 Y2
L@ gm0 e
ﬁﬁwmﬁﬁ*ﬁﬁ“ﬁ 89
Wﬁ(x+l=2gﬁa} 2x2 19
X 3x +4X+3 ‘TFf"Eﬁ"TI'
(a) 5 4
2
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4.

©

97.

e

is/are used by human beings most
of the time to control the behaviour of others
as well as of themselves.
(a) Words o (b) Postures
(¢) Punishment (d) Rewards

It is human nature to know why we/others
behave in a specific way. The .process of
explaining our own and others’ behaviour is

95.

94.

LA LR N ed T

DS.TF-2-24

W%maﬁwwaﬁwm%m
AP FRT SR /eS|
(a) ¥oq @ T

() <ue/Esl (d) -JU&PR

m@ﬁ@wﬂ@ﬁﬁwaﬁ%ﬁmm%

W%Wﬁm e |
(a) Prosoc1a1 behaviour (a) v AT GHA SRR ‘ ‘
(b) Discrimination s wm‘E(b) feredentor g i
- (¢) Attribution : L (o) grumﬁw ' r
(d) Altruism / i*,;;(d) wiedqare vy
Tendency of people to like each other is | 961 T <} Teh- a@(ﬁmaﬂ?faﬁwﬁf g
Ny watrg |
(a) Prejudlce ’”’4 7(a) E“E f ‘
(b) Discrimination : (®)
(c) Attractiveness o (0) AT
(d) Reciprocity of liking (d) q;lta?ﬁqwq“{a'r
Which decision-making bias refers to the|2’" Frofr o & e TaiTE Tecll 1 ST ST lf' &
tendency to give excessive weight to the first| mm&ﬁﬁ%ﬁmm%?
information received ? ,_ Wm N
(b) Availability heuristic | - ».u:fl,éf? © T %Fgﬁ' qa‘”rag /
(c) Hindsight bias 169 .
(d) Anchoring bias . / g \j(d) Ueh T qaiﬂ%
What are the four baS1c commumcatmn 984 e ZWW W)WWW%"
skills ? (l-. %D;'a;]_ Eot = A 2. I
1. Understanding 2. Listening : v‘§3 RAHAT 4. S
3. Informing .4.‘1 Speaking & 3 WW 6. ! WGZIT .
5. Observing 6. Reading Wl?zﬁ g R O
7. Influencing 8. Writing . ﬁ ﬁ
Select the correct answer from the codes g1ven ﬁﬁqwﬂﬁwwww
below : Ll (a) 2,4,6,8 , () 1,8,7,8
(@) 2,4,6,8“ / (b 1,378 © 7,2,5,6., D 3,5,2,7

() 7,2,5,6 (d 3,5,2,7 99.

ﬁﬁ%rﬁaaﬁ@r%awaﬁwﬁrﬁm&maﬁ
FHEANE?

99. \ Which of the following type of memory has the o[

shortest duration 7 h :)( a) Wﬂﬁ

(a) Immediate memory t +J(b) Hﬁfﬁfﬁ@?ﬁ

(b) Echoic memory » | (7)(c) mmﬁ

(¢) Iconic memory , i @ aﬁ[zfamﬁ mﬁr N

(d) Working ‘m.emor}./ | | 100‘”) ﬁl&RﬁT (Grs?n) @wﬁ .
100.\ Functional fixedness is a kind of ’ 3@" o

(a) Cl‘onfh."rr}zlltio_n hias (b) e

(b) - Creativity bias HSHIcHS Te

(c) Mental set ° (c) Wmﬁl?l]ﬂ e

(d) Forward working (@) TEia wrEicHehar
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